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QUESTION 1

Which following service scenario of the smart grid does a separate 5G E@E need to be used? -SC
A. Power distribution network protection and control

B. Mobile operations

C. Intelligent meter reading

D. Voice-base dispatch service (trunking group)

Correct Answer: A

QUESTION 2

Which of the following are commercial products in the 5G terminal industry?
A. vehicle-mounted mobile module

B. mobile handheld terminal

C. mobile MIFI hotspot device

D. home CPE gateway .

Correct Answer. ABD

QUESTION 3

Which of the following companies the claimed that it will no longer develop 5G terminal baseband chipsets?_SC
A. QUALCOMM

B. Huawei

C. intel

D. Samsung

Correct Answer: C

QUESTION 4
In an industrial internet sensors are used to monitor the status. Which one of the following requirement in this case?
A. Low delay

B. Large bandwidth
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C. High reliability.
D. Massive connections

Correct Answer: D

QUESTION 5

5G uses edge computing to offload traffic, guaranteeing low latency
A. True

B. False

Correct Answer: A

Latest H35-660 Dumps H35-660 Study Guide H35-660 Braindumps

Latest H35-660 Dumps | H35-660 Study Guide | H35-660 Braindumps 3/3


https://www.geekcert.com/h35-660.html
https://www.geekcert.com/h35-660.html
https://www.geekcert.com/h35-660.html
http://www.tcpdf.org
https://www.geekcert.com/h35-660.html
https://www.geekcert.com/h35-660.html
https://www.geekcert.com/h35-660.html

